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1. When the life of the project is 15 years, why the IRR is calculated
for 10+1 years. IRR should be recalculated for 15 years minimum.
2. What is the basis of 20% internal benchmark. DOE should check
all the company annual reports and financials to support the claim.
3. From the PDD, it is clear that no proper stakeholder consultation
process conducted. DOE should check for this and supportings
should be included in the PDD.

4. Why IPCC default emission factors are used for fuel oil when
plant specific value can be used. DOE should check for
conservativeness of the same.



